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(1) u=Au (in Q x (0,00)),
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for (i = 1; i <= N_r; i++)
for (k = 0; k <= N_z; k++) {
for (j = 0; j < N_theta; j++) {
R1 = (1-2*(lambda_r+lambda_z)) * U[i][j][k];
if (i < N_r)
R2 = (1.0+1.0/(2%1))*U[i+1][j][k]+(1.0-1.0/(2*i))*U[i-1][j][k];
else
R2 = 2x(U[N_r-1] [j] [k]+(1.0+1.0/(2*1i))*h_r*(T_s-gamma*U[N_r] [j] [k]));
if (k == 0)
R3 = 2 * (U[il[j]1[1] + h_z * (T_b-gamma*xU[i] [j]1[0]));
else if (k == N_z)
R3 = 2 * (U[i][jIIN_z-1] + h_z * (T_t-gamma*U[i] [j][N_z]));
else
R3 = U[i]1[j][k+1] + U[il[j][k-1];
b[j]l = R1 + lambda_r * R2 + lambda_z * R3;
}
ptrisol (0000, b);
for (j = 0; j < N_theta; j++)
UULi] (31 k] = b[j];
}
N J

O00ODirichlet (OO0) 000000000 O0O0OOO(19 0DD0O0OO
UJT\LTj.rjlk:f(laejuzk;thrl);
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for (i = 1; 1 <= N_r; i++)
for (k = 0; k <= N_z; k++) {
for (j = 0; j < N_theta; j++) {
if (1 == N_r || k == 0 || k == N_z)
b[j] = (1-2x(lambda_r+lambda_z)) * U[i] [j] (k]
+ lambda_r =*
((1.0+1.0/(2%1))*U[i+1] [j] [k]+(1.0-1.0/(2%i))*U[i-1] [j] [k])
+ lambda_z * (U[i][j][k+1] + Uil [j][k-11);

else
b[j] = boundary(i * dr, j * dth, k * dz, n * dt);
}
ptrisol (0000, b);
for (j = 0; j < N_theta; j++)
UU[i] [j1 k] = b[j];
}

- J
D000 (00 100000000000000000)
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for (i = 1; i <= N_r; i++)
for (k = 0; k <= N_z; k++)
if (A=0N_r ||l k==0 1] k ==0N_z) {
for (j = 0; j < N_theta; j++)
UU[i] [j] [k] = boundary(i * dr, j * dth, k * dz, n * dt);

}
else {
for (j = 0; j < N_theta; j++)
b[j] = (1-2+%(lambda_r+lambda_z)) * U[i] [j] [k]
+ lambda_r *
((1.0+1.0/(2%1))*U[i+1] [j] [k]1+(1.0-1.0/(2%1i))*U[i-1] [j] [k])
+ lambda_z * (U[i][j][k+1] + U[i][j][k-11);
ptrisol (0 OO0, b);
for (j = 0; j < N_theta; j++) UU[i][j]1[k] = b[jl;
}
N
goooogo

gboobooooilibo,o20,0300bo00uoobooogbobuoooga
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(/D1D,D2D,D3DD[M]DDDD

N

for (i = 1; 1 <= N_r; i++)
for (k = 0; k <= N_z; k++) {
for (j = 0; j < N_theta; j++) {

}

}

if (i < N_r)
R2 = (1.0+1.0/(2%i))*U[i+1]1[j]1[k]1+(1.0-1.0/(2*i))*U[i-1]1[j][k];
else if (!side_is_dirichlet)
R2 =
2% (U[N_r-1] [j] [k]1+(1.0+1.0/(2*1i))*h_r*(T_s-gammaxU[N_r] [j] [k]));
else {
b[j] = boundary(i * dr, j * dth, k * dz, n * dt);
continue;
}
if (k == 0) {
if ('botto_is_dirichlet)
R3 = 2 x (U[1]1[j1[1] + h_z * (T_b-gamma*U[i] [j1[01));
else {
b[j] = boundary(i * dr, j * dth, k * dz, n * dt);
continue;
}
}
else if (k == N_z) {
if (!top_is_dirichlet)
R3 = 2 * (U[il[j1IN_z-1] + h_z * (T_t-gamma*U[i] [1IN_z]1));
else {
bl[j] = boundary(i * dr, j * dth, k * dz, n * dt);
continue;
}
}
else
R3 = U[i][j] [k+1] + U[i][j][k-1];
= (1-2*(lambda_r+lambda_z)) * U[i] [j] [k];
R1 + lambda_r * R2 + lambda_z * R3;

R1
b[j]

o~

ptrisol(0O0 OO, b);
for (j = 0; j < N_theta; j++)

UULi1 [ k] = b[j];

J

0000000000000 00000000000000000(CoOoDOo0o0oo0oooog
O000000)0oooooooo
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00000022=80000000000000000000000 (00000000
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for (i = 1; i < N_r; i++) {
/x k==0 O00O0O0O0O0 =/

/* k==N_z O00O4OOO0O =/

/* OO0O0 =/
for (k = 1; k < N_z; k++) {
}
}
/* i==N_r OO OOO0O =/
/* i==N_r,k==0 000000 =*/
/* i==N_r,k==N_z 000000 =*/
/* i==N_r,0<k<N_z O O0O0OO0O =%/
for (k = 1; k < N_z; k++) {
}

000000 (A)OD0DO00oooooon

gobobooooboboooobobod

-

#define
#define
#define
#define
#define
#define

~

R1(i,j,k) ((1-2%(lambda_r+lambda_z))*U[i] [j] [k])

R2(i,j,k) ((1.0+1.0/(2%(i)))*UL(1)+1][j1[k1+(1.0-1.0/(2x(i)))*UL(i)-11[j]1[k])
R2S(i,j,k) (2+x(UIN_r-11[j1[k]1+(1.0+1.0/(2*(N_r-1)))*h_r*(T_s-gamma*U[N_r] [j] [k]1))
R3(i,j,k) (UL[il[j]1 0k +11+U[i]1[j]1[(k)-11)

R3B(i,j,k) (2%(U[i] [j][1]+h_z*(T_b-gammaxU[i] [j1[0]1)))

R3T(i,j,k) (2x(U[i] [j][N_z-1]+h_z*(T_t-gammaxU[i] [j]1[N_z])))

gbooooogn
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for (i =1; 1 < N_r; i++) {
/* k==0 */
k = 0;
if (bottom_is_dirichlet)
for (j = 0; j < N_theta; j++) b[j] = boundary(ixdr,j*dth,k*dz,nxdt);
else
for (j = 0; j < N_theta; j++)
b[j] = R1(i,j,k) * lambda_r * R2(i,j,k) + lambda_z * R3B(i,j,k);
ptrisol (D OO0, b);
for (j = 0; j < N_theta; j++) UU[il[j]1[k] = b[j];
/* k==N_z */
k = N_z;
if (top_is_dirichlet)
for (j = 0; j < N_theta; j++) b[j] = boundary(ixdr,j*dth,k*dz,nxdt);
else
for (j = 0; j < N_theta; j++)
b[j] = R1(i,j,k) * lambda_r * R2(i,j,k) + lambda_z * R3T(i,j,k);
ptrisol (0000, b);
for (j = 0; j < N_theta; j++) UU[il[j1[k] = b[j];
/* 1<=k<=N_z-1 */
for (k = 1; k < N_z; k++) {
for (j = 0; j < N_theta; j++)
b[j] = R1(i,j,k) * lambda_r * R2(i,j,k) + lambda_z * R3(i,j,k);
ptrisol (0 OO0, b);
for (j = 0; j < N_theta; j++) UU[i][jI[k] = b[j];

}
}
/* i==N_r OO0OD0O0 =/
i = N_r;

if (side_is_dirichlet)
for (k = 0; k <= N_z; k++) {
for (j = 0; j < N_theta; j++) b[j] = boundary(i*dr, j*dth,k*dz,n*dt);
ptrisol (0 OO0, b);
for (j = 0; j < N_theta; j++) UU[il[j]1[k] = b[j];
}
else { // 000DOOOOO0OO0OOOODOO..
/* k==0 */
k = 0;
if (bottom_is_dirichlet)
for (j = 0; j < N_theta; j++) b[j] = boundary(i*dr, j*xdth,k*dz,n*dt);
else
for (j = 0; j < N_theta; j++)
b[j] = R1(i,j,k) * lambda_r * R2(i,j,k) + lambda_z * R3B(i,j,k);
ptrisol (0000, b);
for (j = 0; j < N_theta; j++) UU[il[jl1[k] = b[j];
/* k==N_z */
k = N_z;
if (top_is_dirichlet)
for (j = 0; j < N_theta; j++) b[j] = boundary(i*dr, j*dth,k*dz,n*dt);
else
for (j = 0; j < N_theta; j++)
b[j] Rl(i,j,k) * lambda_r * R2(i,j,k) + lambda_z * R3T(i,j,k);
ptrisol (0 OO0, b);
for (j = 0; j < N_theta; j++) UULil[jl1[k] = b[j]l;
/* 1<=k<=N_z-1 */
for (k = 1; k < N_z; k++) {
for (j = 0; j < N_theta; j++)
b[j] = R1(i,j,k) * lambda_r * R2(i,j,k) + lambda_z * R3(i,j,k);
ptrisol (0 OO0, b);
for (j = 0; j < N_theta; j++) UU[il[j10d = bljl;

}
}

\




3 Oogo

u(r, 0, z,t) = 10.
odooodowp=10000000000

u=10 (on T,UT, UTy)

gboboooogobod

2
u(r,0,z,t) = sin (%) exp [—a (%) t} )
0000000 we(r,0,2)=sin(rz/Z) 000000000

ou

8_n:O (onTy), u=0 (onT;UTlY)

obooboobod

u(r, 0, z,t) = sin(\2) exp(—ATt) + sin(Ap2) exp(—A3t)

u(r, 0, 2,0) = sin(A12) + sin(Aa2).
ou

0
%:O (on I'y), a—Z—}—au:O (onTy), u=0 (onI}).
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